[N of reco track vs normalized x2 ]

N of associated (recoToSim) looper tracks vs normalized x*

| N of associated (recoToSim) tracks vs normalized x?

2 E . © E L E 2
[*] L . 5] 5] S
g . s g g
= 10° - = = 104 £
E . 2 F 3 £
L . L g_
10°F - 10°F 10° 8
10°F - 10°F . 10?
1025— i 1025—
10k i feue 10F
o sudf | Paaalaa] | o i ° RN
5 p M : 1 3 : e -
o - i 14 3 14 B
: : i AR oot
O'TJ 2 4 6 8 10 12 14 16 18 20 8 10 12 14 16 18 20 0"0 2 4 6 8 10 12 14 16 18 20 OT) 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
— —oTTgT t"F’ bclllcvv TOTIT
N of reco track vs. § ———— B M—BlielSBEC%i%& ﬁe ﬁﬁgar ghagse%. newgeom yerset
(%] 1%} F 2] oy 0
x < F X E x
Q Q o [=] (=)
g g g . 8
= = = 10 =
[ [} Q
£ s g
3
10° - 3
-
107 gt
? Y
i
<} <] 1 H \ T ] e
: : \F [| T : :
o 14 o 14
h H 1 g
Ll HH‘ |




	Contents
	Page 1


